



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$(3 + \frac{1}{6})^2 - \frac{1}{4} \times 2^2 - \frac{1}{2} =$$

$$(4 - \frac{1}{3})^2 + \frac{1}{2} - 3^2 \times \frac{1}{4} =$$

$$(\frac{2}{5} - \frac{1}{2})^2 - \frac{1}{6}(\frac{2}{5} - \frac{1}{6}) =$$

$$(3 + \frac{2}{3})^2 - \frac{1}{2} \times 3^2 \times \frac{1}{4} =$$

$$(\frac{1}{2} - (\frac{1}{3})^2) \times \frac{1}{2} + (\frac{1}{6} - \frac{1}{3})^2 =$$

$$(\frac{2}{3} + (\frac{1}{5})^2) \times \frac{1}{4} - (\frac{2}{5} + \frac{3}{4})^2 =$$

$$(\frac{1}{4} - \frac{3}{2})^2 + \frac{2}{3}(\frac{1}{2} + (\frac{1}{2})^2) =$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{1}{2}(\frac{1}{2} - (\frac{1}{5})^2) =$$

$$(\frac{1}{6} - \frac{1}{6})^2 + \frac{1}{2}(\frac{3}{4} + (\frac{3}{2})^2) =$$

$$((\frac{1}{4})^2 - \frac{3}{4}) \times \frac{1}{4} - (\frac{2}{3} - \frac{2}{3})^2 =$$



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$(3 + \frac{1}{6})^2 - \frac{1}{4} \times 2^2 - \frac{1}{2} = \frac{307}{36} = 8\frac{19}{36}$$

$$(4 - \frac{1}{3})^2 + \frac{1}{2} - 3^2 \times \frac{1}{4} = \frac{421}{36} = 11\frac{25}{36}$$

$$(\frac{2}{5} - \frac{1}{2})^2 - \frac{1}{6}(\frac{2}{5} - \frac{1}{6}) = (-\frac{13}{450})$$

$$(3 + \frac{2}{3})^2 - \frac{1}{2} \times 3^2 \times \frac{1}{4} = \frac{887}{72} = 12\frac{23}{72}$$

$$(\frac{1}{2} - (\frac{1}{3})^2) \times \frac{1}{2} + (\frac{1}{6} - \frac{1}{3})^2 = \frac{2}{9}$$

$$(\frac{2}{3} + (\frac{1}{5})^2) \times \frac{1}{4} - (\frac{2}{5} + \frac{3}{4})^2 = (-\frac{55}{48}) = (-1\frac{7}{48})$$

$$(\frac{1}{4} - \frac{3}{2})^2 + \frac{2}{3}(\frac{1}{2} + (\frac{1}{2})^2) = \frac{33}{16} = 2\frac{1}{16}$$

$$(\frac{1}{2} + \frac{1}{2})^2 - \frac{1}{2}(\frac{1}{2} - (\frac{1}{5})^2) = \frac{77}{100}$$

$$(\frac{1}{6} - \frac{1}{6})^2 + \frac{1}{2}(\frac{3}{4} + (\frac{3}{2})^2) = \frac{3}{2} = 1\frac{1}{2}$$

$$((\frac{1}{4})^2 - \frac{3}{4}) \times \frac{1}{4} - (\frac{2}{3} - \frac{2}{3})^2 = (-\frac{11}{64})$$